52 (M) Maths Homework 12
1} Expand and simplify.
ay 3(f+3)-3i-8 b} 6(&-3)-3a+7

2} Multiply out the brackets and solve.
a) Ix-2)=12
B) 4(x+7)=44
e} Ax-4H=14
3} Expand and simplify,
a) Sx+3-x+41 B} 8{c+3)-¢-31
e} 200+2+3000+) & 6(s+H-B(55+6)

4}  Factorise the follow ing.

a)  3r+9 by 1Xx*- g
c) 4p-3p° d}) 13mmn+ 10m
e} 4r-12s ) Oab- 5

2} Bvaluaote.
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6) A pairof shoes usually costs £96.

1
They are reduced by a T ina sale.

Find the new priceof the shoes.
T} A monthly train ficket costs £125.

Fares increase by 107%.

What is the new cost of the monthly train ticket?
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